é i y % fire brek, desimaler, rekkefolge for operasjoner

StudentName: ExamDate: ExamScore:

2,5—1><2—2O><g+4= %_lx2+1:
5 3 5 2 2
2 1 1
4,7—2%x3-2,6= 20— x5+ - =
T3 ’ T3 6
3-4,3x5+5,5=

1 2
—+5,5%x2-20x Z+5=
47 5

11 1 2

S - - 43x4,6= ——4+5x ==

6 2 ’ 2 5
Ly Do liggnle
2 3 2 2 3
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% é ? y % fire brek, desimaler, rekkefolge for operasjoner

StudentName: ExamDate: ExamScore:
1 2 37 7 2 1 1 1
2,5—=%x2-"20X =+4=(-——)=(—1— —— = X2+ =-=(——
’ 5 3 (30) ( 30) 5 2 2 (10)
2 1 1 1 7
47— =%x3-2.6= — 2,2—=X5+—-=—
’ 3 ’ 10 ’ 3 6 10
3-4,3%5+5,5=(-13) D s sxpongx2e5=19 _o13
4 ’ 5 20 20
1 1 202 7 1 2 3 1
——=+3x4,6=—=13— ——4+5x ==(—=)=(—1=
6 2 ’ 15 15 2 5 (2) ( 2)
1 143 23 1 1 1
—+2,3%x2—==— =4— —— 12X -+4-3%x -=(-2)
3 3 30 2 2 3
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